Y
RVJ Calcola le percentuali dei numeri

Nome: Data: Punteggio:
48 x 90% = 62 x 40% =
59 x 30% = 80 x 10% =
12 x 40% = 66 % 20% =
32 x80% = 31 x10% =
13 x 60% = 98 x 70% =
11 x20% = 75 x20% =
50 x 40% = 48 x 30% =
6 % 30% = 16 x 30% =
26 x 80% = 19 x 60% =
16 x 70% = 33 x 50% =
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Calcola le percentuali dei numeri

Nome:

48 X 90% = 43.2

59 x30% = 17.7

12 x40% = 4.8

32 x 80% = 25.6

13 x60% = 7.8

11 x20% = 2.2

50 x 40% = 20

6 x30% = 1.8

26 < 80% = 20.8

16 x 70% = 11.2

Data:

62 x 40% = 24.8

80 x 10% = 8

66 < 20% = 13.2

31 x 10% = 3.1

98 x 70% = 68.6

75 x20% = 15

48 x 30% = 14.4

16 x 30% = 4.8

19 x60% =114

33 x50% = 16.5
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Punteggio:
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